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1. Aril and Dita are wealthy Norwegian business owners who each opened their own donation funds at the same time. Their funds make monthly donations to international disaster relief, and Aril and Dita want to analyze the cumulative amount of money each of them donated.
The cumulative number of Norwegian Kroners donated by each person as a function of time (in months) is modeled by the following functions, which are defined by positive integers only:

Aril: 				Dita: 

a) Create a table of values for each business owner beginning with x = 0
	n
	0
	1
	2
	3
	4
	5

	a(n)
	
	
	
	
	
	



	n
	0
	1
	2
	3
	4
	5

	d(n)
	
	
	
	
	
	



b) Find the average rate of change for each business owner from x = 1 to x = 3


c) Find the average rate of change for each business owner from x = 4 to x = 5


d) What observations can you make about the average rates of change?


2. The area of a rectangle is  If the width is , then what is the length?
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3. The volume of a metal box is 30 cubic feet. If the length is 5 feet greater than the height and the width is 2 feet less than the height, what are the dimensions of the box? 
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The volume of a metal box is 30 cubic feet. If the length is 5 feet greater
than the height and the width is 2 feet less than the height, what are the
dimensions of the box?

Volume = length x width x height

3083 = (h+5)feets (h—2) feet - (b) feet

B+ 5)@ - 2) =30 combine 1st and 2nd terms
(02 + shy(h— 2) =30 FOIL
n3+3n2—10n =30 Set equal to zero

3+ 3% - 100 - 30
RS

solve for h (by grouping)

1 @+3)- 100+3)=0 h+3=0  h=-3
@+3)u’-10)=0 m-10=0 h=A/10
h=-Al0

h+5

Since height cannot be negative,
our solution is h =

the solutionish = 4/10  (approximately
3.16)

so, the dimensions of the box are
approximately 8.16x 1.16 x 3.16





